D1visioN AND MULTIPLYING BY 10s (H - SET 5)

SOLUTIONS
341 342 343 344 345 346 347 348 349 350
8.706 99.13 0.0298 0.6 2.074 0.2483 33.16 7992 4229 0.0837
351 352 353 354 355 356 357 358 359 360
8563 0.6485 0.2299 5084 4470 0.5599 3.491 6589 2.484 0.7746
361 362 363 364 365 366 367 368 369 370
998000 155000 26000 596000 914000 507000 350000 344000 733000 603000
371 372 373 374 375 376 377 378 379 380
437000 610000 431000 267000 18000 954000 581000 926000 533000 35000
381 382 383 384 385 386 387 388 389 390
965000 759000 438000 63000 988000 844000 446000 654000 900000 104000
391 392 393 394 395 396 397 398 399 400
759000 68000 149000 735000 723000 166000 883000 312000 743000 87000
401 402 403 404 405 406 407 408 409 410
111000 25000 670000 689000 682000 901000 86000 162000 682000 63000
411 412 413 414 415 416 417 418 419 420
30000 503000 868000 776000 902000 231000 476000 396000 165000 454000
421 422 423 424 425 426 427 428 429 430
616 566 421 110 153 382 504 622 172 71
431 432 433 434 435 436 437 438 439 440
724 210 85 487 444 636 155 599 375 135
441 442 443 444 445 446 447 448 449 450
263 588 548 36 260 92 952 169 162 384
451 452 453 454 455 456 457 458 459 460
950 690 305 667 672 971 924 755 446 24
461 462 463 464 465 466 467 468 469 470
657 761 501 358 958 530 252 739 425 343
471 472 473 474 475 476 477 478 479 480
438 368 409 195 468 484 317 853 314 227
481 482 483 484 485 486 487 488 489 490
0.00754 0.00931 72 240 0.12 148 0.881 638 0.479 2.83
491 492 493 494 495 496 497 498 499 500
28.7 0.542 12.6 4.85 0.00674 0.665 7.37 52.9 0.0789 855
501 502 503 504 505 506 507 508 509 510
0.00243 5.44 0.0343 0.0013 0.881 0.0744 0.987 94.4 0.0494 899
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